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Name of the student: ......ccoeiiiiiiiiiieee e Section / Medium:.........cceuenen.. Roll No.............
Creating New Problems Written Work Project work Slip Test Total
(10Marks) (10Marks) (10Marks) (20Marks) (50Marks)
Marks
Grade

l. Creating New Problems (10marks)
1. Written Work (10marks)
Il. Project work (10marks)

Measure the length and breadth of all rooms in your house separately and find the total are of your
house in Square Foot.

IV. Slip Test (20Marks)
ANSWER FOLLOWING THE QUESTION . (4x1=4 M)

1) Which of the following are Equations.

i) x-3=10 ii)z+2>5 i) p+4<7 iv) y-6=0

2) Two sides of a triangle are 12 cm and 14 cm. If its perimeter is 36 find the third side.

3) Imram bought 2 liters of oil and Vijay bought 500 ml of oil. Find the ratio of the oil they bought.

4) Complete the following table.

Name of the figure Equilateral Triangle | Square Rectangle | Circle

No of Symmetric Lines

ANSWER FOLLOWING THE QUESTION. (2x2=4 M )
5) Solve by trial and error method: x+3=7.
6) If the cost of 16 chairs is Rs 3600 how many chairs can be bought for Rs 4500 ?
ANSWER FOLLOWING THE QUESTION. (2x4=8 M )
7) Perimeter of a rectangle and a square are equal. If the length and breadth of rectangle are 36 cm
and 25 cm respectively, area of which of these two is more? By how much ?
8) Geeta earns Rs 12000 per month. If she saves Rs 3000 of it, find the ratio of
i) Expenditure, Savings ii) Savings, Earnings iii) Expenditure, Earnings.
FILLIN THE BLANKS. (8x§=4 M)
9) L.H.S of 2X-3=7iS .ccoevrrrrunnnnnn
10) Area of Rectangle A= ..................
11) 2 is added to x. write as algebraic expression..............ccecc.....
12) If perimeter of a equilateral triangle is 30 cm, its side is....................
13) In a:b, ais called .............
14) No of symmetric lines can be drawn for the letter "H” are ..............
15) Express the ratio in lowest terms 20:16 = ............ccceunnneeee.

16) Area of irregular objects can be found by using .......c...cccc........
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l. Creating New Problems (10marks)

1. Written Work (10marks)

Il. Project work (10marks)

Collect the very big and small numbers from your and brother’s or sister's Science and Social Text
Books. Express them in Standard form using exponents.

IV. Slip Test (20Marks)

Answer the following questions (4x1=4M)
1) Write the algebraic expressions in sentence form. 1) x+3 ii) y-7
2) Write 64 in exponential form.

3) Simplify 3°x(32)? D .

4) Find the perimeter of the rectangle. e

Answer the following questions . (2x2=4M)
5) If 5°x5%=5"" find the value of x.

6) Simplify: 2x*+5x-1+8x+ x?+7-6x+3-8x>

Answer the following questions . (2x4=8M)
7) If A=5x2+9x+6, B=4x+3x2-8, C=3x-5x2-2 find i)(A+B)+C ii)(A-B)-C
8) If a=3, b=2 find the value of following. 1) a®+b ii) a*+bP iii)(a+b)® iv) (a-b)
FILL IN THE BLANKS. (8x§=4 M)
9) xy+yx-3 is an example of ...................

10) Order of a constant termis ...............

11) Additive inverse of 2x?*+5x-1is ...........

12) Base in (5X)3iS .voceeveereeeruenne

13) Standard form of 384,000,000 is

14) (ab)"=..........
15) 92X9"°%9%= ...ccoiiieiiieeeeeeee,

16) The bigger of 23, 32iS....ccuuuuiiieiii e e e e e e e
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l. Creating New Problems (10marks)
Il. Written Work (10marks)
Il. Project work (10marks)

Prepare Net Diagrams for different type of solid shapes you observe in your daily life.

IV. Slip Test (20Marks)

Answer the following questions (4x1=4 M)
1) Add 5x*+9x+6xy and, 4x+3x>-8xy.

2) Express 72 as product of primes.

3) Find the product of 2x+3y and 2x-3y.

4) Draw a cube and lable its parts.

Answer the following questions (2x2=4 M)
5) Expand (3x+4y)°.

6) Factorize x%+12x+35.

Answer the following questions (2x4=8 M)
7) Geometrically verify (a+b)?=a’+2ab +b? for the following values of a,b.
i) a=2 units, b=4 units ii) a=3 units, b= 1 unit

8) Verify the Euler's Formula.

Name of the solid No of Faces(F) No of Vertices(V) | No of Edges (E)

F=V

E+2

Cube

Cuboid

Prism

Triangular Pyramid

FILL IN THE BLANKS. (8x%=4 M)
9) Product of 3xy? and -2X°y iS ....cceeeeeuennen.
10) Symbol of Identical Equal is ........cccceerueeen.

11) 99x101=.. e
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l. Creating New Problems (10marks)
1. Written Work (10marks)
Il. Project work (10marks)

Draw pictures on graph paper by using Geometric coordinates.
IV. Slip Test (20Marks)

Answer the following questions (4x1=4 M)
1) Write the quadrant in which the following points lie?(-2,3), (5,-3),(4,2),(-7,-6).

2) Are the points (5,-6) and (-6,5) same? Justify. <

3) Find the value of x in the adjacent figure. Q
4) Construct a equilateral triangle with side 4.5 cm.

Answer the following questions . (2x2=4 M )

5) Prove that “Equal chords of a circle subtend equal angle at the centre”.

6) Construct 30° with ruler (without protractor).

Answer the following questions . (2x4=8M )

7) Construct a circumcircle of the triangle ABC where AB=4cm,BC=5cmand CA=6cm.
8) Plot the points (2,3),(6,3)and(4,7) in a graph sheet join them to make geometrical figure, find the
area of the figure so formed.
FILL IN THE BLANKS. (8x%=4 M)

9) The circumcircle passes through the .................... of triangle.

10) The perpendicular bisector of chord passes through the ............... of circle.
11) Angle in semicircle is .........ccccemuciiirinnes

12) Father of Co-ordinate geometry is .......ccccceevveuennnee.

13) The intersecting point of X-axis and Y-axis is called .........................

14) All the points (2,0),(6,0)and(4,0) lie 0N ...ceeeeecnnunmnennes

15) Opposite angles in a cyclic quadrilateral are ...........ccccoovemeiiriceinneeee.

16) The co-ordinates of the point E in the given graph ................... : s
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l. Creating New Problems (10marks)
Il. Written Work (10marks)
Il. Project work (10marks)

Find the height of your School building by using Trigonometry and verify it.
IV. Slip Test (20Marks)

Answer the following questions (2x1=2 M)

1) Which termin A.P 10,8,6, ...... is -28?

2) In the game of spinning arrow which comes to rest pointing at regionsa or b or c
( see figure), are the outcomes equally likely occur? Give Reason. v
Answer the following questions (2x2=4 M)

3) The 5™ 8" and 11" terms of a G.P. are p ,q and s respectively. Show that q°=ps.

4) Aladder 20mts long is placed against a vertical wall of height 10 mts. Find the distance

between the foot of the ladder and the wall. Find also the inclination of the ladder with the
horizontal.

Answer the following questions (3x4=12 M)

5) a) Determine the 12" term of G.P. whose 8" term is 192 and common ratio is 2.

b) How many two digit numbers are divisible by 7.

6) The upper part of a tree, broken by wind in two parts, makes an angle of 30° with the ground. The

top of the tree touches the ground at a distance of 20mts from the foot of the tree. Find the height of
the tree before it was broken.

7) A card is drawn from a well shuffled pack of 52 cards. Find the probability of: (i) red king (ii) A face card (iii) A

red face card (iv) Jack of hearts (v) A spade (vi) Queen of diamonds
CHOOSE THE CORRECR ANSWER. (4x%=2 M)

8). 1+2+3+......10= ( )

A) 100 B) 50 C) 55 D) 45

-2

9). If—,X,_—27 arein G.P. then x =

A) 1

B) 2

C) 7

10). Two coins (A one rupee coin and a two rupee coin) are tossed. Total outcomes are ......

Al
)2

B) 2

C)4

11). A vertical pole is 10mts high. The length of its shadow is 10+/3 mts. the angle of elevation of

the sunis........

B) 60°

C) 90°

( )



